
 
 

 
 
 
 
 

VOCABULARY REVIEW TEST 
PJI4A Units 15+16, English for Business Studies 

 
 

II. Vocabulary: (max. 34 points)                                          points 
A. Translate the following expressions into English:                            (2 points each) 

 
investovat do technologických společností v raném stádiu s vysokým potenciálem 

růstu a očekávat vysokou návratnost –  

 

zapomenout připojit k obchodnímu plánu přílohy a nedostatečně rozpracovat  část 

zavádění do praxe –  

 

nezbytnost důkladné znalosti oblasti průmyslu a schopnost počítat s neúspěchem –  

  

nakupovat státní cenné papíry prostřednictvím makléřských firem – 

 

upřednostňovat financování prostřednictvím dluhu, protože vyplácené úroky z 

obligací jsou odpočitatelné od daňového základu –  

 

nesplatit jistinu v době její splatnosti kvůli platební neschopnosti společnosti –  

 

špatné hodnocení cenných papírů zajištěných hypotékami a následné odepsání 

hodnoty – 

 

obchodovat s interními informacemi využívanými k vlastnímu obohacení – 

 

B. Write expressions the following definitions refer to:                              (2 points each) 

1. disparity or difference between the bid and offer prices:  
2. the entire amount of income before any deductions are made:  

 

C. Complete the sentence with one of the following phrases; translate the selected phrase into Czech.      (2 points each) 

MARKET MAKERS - EXECUTIVE SUMMARY – HIGH-YIELD BOND 
BREAK-EVEN-POINT – INVESTMENT CYCLE - EXIT STRATEGY  

 
1. We have been waiting for the ______________________ for two years. 

During that time we focused all our energies on boosting sales and building 
customer confidence. 
In Czech: __________________________________ 

 
2. Before any venture capitalist accepts to invest in a company, they will have 

prepared an _________________, which most frequently means a trade sale. 
             In Czech: _________________________________________________________ 

 
3. In practice the most likely victim of insider dealing is the _______________ 

________________ with whom the insider trades. 
In Czech: _________________________________________ 

  

D. Complete the sentences with correct forms of the following verbs; some verbs are not used:     (1 point each) 

KICKSTART – SOAR – PLUNGE – ACCOUNT – GO BUST – RALLY – REAP - OVERVIEW 

1. Ice-creams ____________________ for only a tiny fraction of total sales. 

2. The markets finally seem to ____________after the long period of recession. 

3. Unfortunately, both clubs ______________ just as we were starting to draw 

a decent audience. 

4. Oil prices __________________ above a hundred dollars a barrel, their 

highest level in a decade. 

E. Complete each sentence with a word made from the word given in brackets.     (1 point each) 

1. Most of the managers in this sector are ________________ and that is why we    
    have to look for experts from outside.      (EXPERIENCE) 
 
2. The treasurer of exchequer gave an ______________ of the financial consequences 
    of the natural disaster.   (VIEW) 
 
3. _______________ short-term fluctuations in price are more than likely. (SIZE) 
 
4. Mortgages are pooled together and __________________ and then sold on the  
   stock market.   (SECURE) 
 



5.  High-yield bonds offer ______________________  high returns now. (STAGGER)                                   

 


